M|G/MAG WELD|NG trafimetdistribution.com

EURO
CONNECTORS
MACHINE SIDE

;//07?/'7 7

AT0001 Euro axial

AMO0053 = = brass guide 27 mm 5 AMO0053 EEE brass guide 27 mm 5
AM3001 —_—————————— capillary tube 88 mm 10 AM3001 —_————— capillary tube 88 mm 10
AM6000 m axial Euro body (f) 1 AM6001 ! .;_-H‘ radial Euro body (f) 1
BWO0010 . Euro housing 10 BWO0010 . Euro housing 10
EA0072 @ nut M12x1,75 50 EA0072 @ nut M12x1,75 50
ECT e e
AMO0034 = = brass guide 46 mm 5
AMO0035 = = brass guide 15 mm 5
AMO0038 - brass guide 39 mm 5
AMO0065 = = brass guide 35,5 mm 5
CODE | \ [ Ny AMB013 | e capillary tube 101 mm 10
AM3109 -, capillary tube 60 mm 10 AM3014 e ——— capillary tube 200 mm 10
BW0230 o MiniEuro housing 10 AM3018 —_————— capillary tube 131 mm 10
EAQO72 9 nut M12x1,75 50 AM3065 —— capillary tube 124 mm 10
FB0502 fs— Mini-Euro body (7) 1 AMS001 Ei current clamp !
BWO0014 . Euro housing 2 holes 10
BW0264 u MiniEuro housing 10
EA0073 9 nut M12x1 50
EA0094 9 Washer 2 mm 10

162 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



MIG/MAG WELDING

EURO

CONNECTORS
TORCH SIDE

gajOﬂMOf

trafimet
distributio

'YOUR WELDING PARTNER g

35 mm

CODE | [ N CODE [ N
AR0052 EURO connection 1 AR0054 ﬁﬁ\“‘—;“: EURO connection

BX0702 spring pin BX0700 — spring pin

FA0026 liner nut M10X1 10 FA0026 g liner nut M10X1 10

31 mm
CODE | \ [ N CODE [ N
— -

AR0070 &—*‘-\:‘; EURO connection 1 AR0083 w EURO TW

BX0700 ——— spring pin BX0700 ——— e spring pin

FA0026 E liner nut M10X1 10 FA0027 E liner nut M11X1

A s

cobE | ‘ [ ] )
BWO0018 . Euro nut plastic 1
BW0020 ' Euro nut metal
EA0018 wy screw M4X6

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

163




	EURO CONNECTORS

